FORM FOUR CLUSTER KCSE MODEL12
COMPUTER STUDIES PAPER 1 QUESTIONS

SECTION A (40 Marks)

Answer all the questions in this section
1. i) Differentiate between master file and transaction file. (1mk)

ii) Give two reasons why smaller computers like laptops tend to be more expensive than desktop
computers. (2mks)

5. State two reasons why magnetic tapes are not commonly used as computer data storage medium
today. (2mks)

10. . Outline three precautions one should take when assembling a computer. (3mks)
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11.

12.

13.

14.

15.

SECTION B (60 Marks)

Answer question 16 and any other three questions from this section

16.

Study the flowchart below and answer the questions that follows.
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17.

18.

Read N

M=M+1 M=N

[ sToP ]

a) What would the flowchart generate as output if the value of N at input was:

i) 67 (2mks)

i) 1?7 (2mks)

b) Write a Pseudocode that does the same thing as the flowchart above. (7mks)
(c% Mfcgify the flowchart so as to reject an input below 0 and avoid the looping when the input is 0.
mks

a) Convert 7678 to hexadecimal equivalent. (2mks)
b) Perform the following conversions 7.12510 to binary. (3mks)

c) 20.216 to decimal. (3mks)

d) Use two’s compliment to subtract 5 from 27. (3mks)

e) Convert FC116 to its binary equivalent. (4mks)

a) With the aid of a diagram explain star topology. (3mks)
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19.

b) List two advantages and two disadvantages of star topology (4mks)

a) What is virtual reality? (2mks)
b)Llstthreeareaswherevnrtualrealltylsused(3mks)

d) A recent breakthrough in the manufacturing industry is the development of a fuel
manufacturing plant that can produce vehicles using robots.

Despite these advances some manufacturers prefer to use human labour.

Give two advantages and two disadvantages of fully automated manufacturing industry. (4mks)
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20.

(d) A school intends to set up an e-learning system. List three problems that are likely to be
encountered. (3mks)
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